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Chapter 10

Instructions regarding reporting templates

IR.22.01 — Impact of long term guarantees measures and transitionals

General comments
This section relates to annual submission of information for individual entities and groups.

This template is relevant when at least one long term guarantee measure or transitional is
used by the undertaking.

This template shall reflect the impact on the financial positions when no transitional is used
and each LTG measures or transitional is set to zero. For that purpose, a cumulative step—
by—step approach shall be followed taking out each transitional and LTG measure one by

one and without recalculating the impact of the remaining measures after each step.

The impacts need to be reported positive if they increase the amount of the item being
reported and negative if they decrease the amount of the item (e.g. if amount of SCR
increases or if amount of Own Funds increases then positive values shall be reported).

R0100 and R0110 are not required for groups.

ITEM INSTRUCTIONS
Amount with LTG Total amount of gross technical
C0010/RO010 | measures and provisions including _I(_)ng term guarantee
transitionals — measures and transitional measures.
Technical Provisions
Total amount of gross technical provisions without
the adjustment due to the transitional deduction to
Without transitional tect;]nlcalI pr_lqwsu()j_ns, but keepollngr;1 adjustrrr:_ents due
on technical to the volatility adjustment and the matching
C0020/R0010 g adjustment.
provisions —
Technical Provisions If transitional deduction to technical provisions is
not applicable report the same amount as in
C0010.
Amount of the adjustment to the gross technical
provisions due to the application of the transitional
Impact of transitional | deduction to technical provisions.
on technical
C0030/R0010 provisions — It shall be the difference between the technical
Technical provisions | provisions without transitional deduction to
technical provisions and the technical provisions
with LTG and transitional measures.
C0040/R0010 | Without transitional Total amount of gross technical provisions without
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on interest rate —
Technical Provisions

the adjustment due to the transitional adjustment
to the relevant risk-free interest rate term
structure, but keeping adjustments due to the
volatility adjustment and the matching adjustment
(‘MA").

If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.

Impact of transitional

Amount of the adjustment to the gross technical
provisions due to the application of the transitional
adjustment to the relevant risk-free interest rate
term structure.

CO050/R0010 | on Interest rate — It shall be the difference between the technical
Technical provisions - ) " )
provisions without transitional adjustment to the
relevant risk-free interest rate term structure and
the technical provisions with LTG and transitional
measures.
Total amount of gross technical provisions without
the adjustments due to the transitional deduction
Without volatility to technical provisions, the transitional adjustment
adjustment and to the relevant risk-free interest rate term structure
without other and the volatility adjustment, but keeping
SR transitional adjustments due to the matching adjustment, if
measures — any.
Technical Provisions
If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the gross technical
provisions due to the application of the volatility
adjustment. It shall reflect the impact of setting the
Impact of volatility volatility adjustment to zero.
adjustment set to
C0070/R0010 zero — Technical It shall be the difference between the technical
provisions provisions without volatility adjustment and
without other transitional measures and the
maximum between the technical provisions
reported under C0010, C0020 and C0040.
Without matching Total amount of gross technical provisions without
adjustment and any LTG measure.
C0080/R0010 | without all the others
— Technical If matching adjustment is not applicable report the
Provisions same amount as in C0060.
. Amount of the adjustment to the gross technical
Impact of matching - - .
adiustment set to provisions due to th_e appllcatlon of the matcr_nng
C0090/R0010 ) adjustment. It shall include the impact of setting

zero — Technical
Provisions

the volatility adjustment and the matching
adjustment to zero.
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It shall be the difference between the technical
provisions without matching adjustment and
without all the other transitional measures and the
maximum between the technical provisions
reported under C0010, C0020, C0040 and
C0060.

Impact of all LTG
measures and

Amount of the adjustment to the gross technical
provisions due to the application of the LTG

C0100/R0010 " ~.
transitionals — measures and transitionals.
Technical Provisions
Amount with LTG Total amount of basic own funds calculated
C0010/R0020 | measures and . cop5|der|ng technical provisions including the
transitionals — Basic | adjustments due to the long term guarantee
own funds measures and transitional measures.
Total amount of basic own funds calculated
considering technical provisions without the
adjustment due to the transitional deduction to
Without transitional | technical provisions, but keeping the adjustments
C0020/R0020 | O" tgc_hnlcal _ du_e to the volatility adjustment and the matching
provisions — Basic | adjustment.
own funds
If transitional deduction to technical provisions is
not applicable report the same amount as in
Co0010.
Amount of the adjustment to the Basic own funds
due to the application of the transitional deduction
to technical provisions.
Impact of transitional
C0030/R0020 | O" tgc_hnlcal _ It shall be the dlfferen_ce b_etween the b_aS|c own
provisions — Basic | funds calculated considering the technical
own funds provisions without transitional deduction to
technical provisions and the basic own funds
calculated with the technical provisions with LTG
and transitional measures.
Total amount of basic own funds calculated
considering technical provisions without the
adjustment due to the transitional adjustment to
Without transitional the relevant risk-free interest rate term structure,
C0040/R0020 | on interest rate — buf[ keeping the adjustmen_ts dug to the volatility
. adjustment and the matching adjustment.
Basic own funds
If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Impact of transitional | Amount of the adjustment to the basic own funds
C0050/R0020 | on interest rate — due to the application of the transitional

Basic own funds

adjustment to the relevant risk-free interest rate
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term structure.

It shall be the difference between the basic own
funds calculated considering the technical
provisions without transitional adjustment to the
relevant risk-free interest rate term structure and
the basic own funds calculated with the technical
provisions reported under C0020.

Without volatility
adjustment and
without other

Total amount of basic own funds calculated
considering technical provisions without the
adjustments due to the transitional deduction to
technical provisions, the transitional adjustment to
the relevant risk-free interest rate term structure

CO060/R0020 transitional and the volatility adjustment, but keeping the
measures — Basic adjustments due to the matching adjustment.
own funds
If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the Basic own funds
due to the application of the volatility adjustment.
It shall reflect the impact of setting the volatility
- adjustment to zero.
Impact of volatility
C0070/R0020 adjustment .SEt to It shall be the difference between the basic own
zero — Basic own S .
funds calculated considering the technical
funds . . - )
provisions without volatility adjustment and
without other transitional measures and the basic
own funds calculated with the technical provisions
reported under C0040.
Total amount of basic own funds calculated
Without matching considering technical provisions without any LTG
adjustment and measure.
CO080/R0020 without all the others
— Basic own funds | If matching adjustment is not applicable report the
same amount as in C0060.
Amount of the adjustment to the basic own funds
due to the application of the matching adjustment.
It shall include the impact of setting the volatility
. adjustment and the matching adjustment to zero.
Impact of matching
C0090/R0020 adjustment set to It shall be the difference between the basic own
zero — Basic own S .
funds calculated considering the technical
funds o . ) :
provisions without matching adjustment and
without all the other transitional measures and the
basic own funds calculated with the technical
provisions reported under C0060.
Impact of all LTG Amount of the adjustment to the basic own funds
C0100/R0020 | measures and due to the application of the LTG measures and

transitionals — Basic

transitionals.
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own funds

Amount with LTG
measures and
transitionals — Basic

Total amount of excess of assets over liabilities
calculated considering technical provisions

C0010/R0030 own funds — Excess | including the adjustments due to the long term
of assets over guarantee measures and transitional measures.
liabilities
Total amount of excess of assets over liabilities
calculated considering technical provisions
Without transitional | without the adjustment due to the transitional
on technical deduction to technical provisions, but keeping the
C0020/R0030 provisions — Basic adjustmer!ts dug to the volatility adjustment and
own funds — Excess | the matching adjustment.
of assets over
liabilities If transitional deduction to technical provisions is
not applicable report the same amount as in
C0010.
Amount of the adjustment to the excess of assets
over liabilities due to the application of the
Impact of transitional | transitional deduction to technical provisions.
on technical
C0030/R0030 provisions — Basic It shall be the difference between the excess of
own funds — Excess | assets over liabilities calculated considering the
of assets over technical provisions without transitional deduction
liabilities to technical provisions and the excess of assets
over liabilities calculated with the technical
provisions with LTG and transitional measures.
Total amount of excess of assets over liabilities
calculated considering technical provisions
without the adjustment due to the transitional
Without transitional | adjustment to the relevant risk-free interest rate
on interest rate — term structure, but keeping the adjustments due
C0040/R0030 | Basic own funds — | to the volatility adjustment and the matching
Excess of assets adjustment.
over liabilities
If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Amount of the adjustment to the excess of assets
over liabilities due to the application of the
transitional adjustment to the relevant risk-free
Impact of transitional | interest rate term structure.
on interest rate —
C0050/R0030 | Basic own funds — | It shall be the difference between the excess of

Excess of assets
over liabilities

assets over liabilities calculated considering the
technical provisions without transitional
adjustment to the relevant risk-free interest rate
term structure and the excess of assets over
liabilities calculated with the technical provisions
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reported under C0020.

Without volatility
adjustment and
without other
transitional

Total amount of excess of assets over liabilities
calculated considering technical provisions
without the adjustments due to the transitional
deduction to technical provisions, the transitional
adjustment to the relevant risk-free interest rate

C0060/R0030 measures — Basic term structure and the volatility adjustment, but
keeping the adjustments due to the matching
own funds — Excess .
adjustment.
of assets over
liabilities If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the excess of assets
over liabilities due to the application of the
volatility adjustment. It shall reflect the impact of
Impact of volatility setting the volatility adjustment to zero.
adjustment set to
C0070/R0O030 | zero — Basic own It shall be the difference between the excess of
funds — Excess of assets over liabilities calculated considering the
assets over liabilities | technical provisions without volatility adjustment
and without other transitional measures and the
excess of assets over liabilities calculated with the
technical provisions reported under C0040.
W'.thOUt matching Total amount of excess of assets over liabilities
adjustment and o i .
without all the others ca_llculated considering Technical provisions
C0080/R0030 . without any LTG measure.
— Basic own funds : , . ,
— Excess of assets If matching adjust_ment is not applicable report the
o same amount as in C0060.
over liabilities
Amount of the adjustment to the excess of assets
over liabilities due to the application of the
matching adjustment. It shall include the impact of
setting the volatility adjustment and the matching
Impact of matching adjustment to zero.
adjustment set to
CO0090/R0030 | zero — Basic own It shall be the difference between the excess of
funds — Excess of assets over liabilities calculated considering the
assets over liabilities | technical provisions without matching adjustment
and without all the other transitional measures
and the excess of assets over liabilities calculated
with the technical provisions reported under
C0060.
Impact of all LTG
{paer?sizg?;i ni Basic Amou_nt (_)_f _the adjustment to t_he excess of assets
C0100/R0030 over liabilities due to the application of the LTG

own funds — Excess
of assets over
liabilities

measures and transitionals.
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Amount with LTG
measures and
transitionals — Basic
own funds —

Total amount of restricted own funds due to ring—
fencing calculated considering technical

C0010/R0040 Restricted own funds | Provisions including the adjustments due.t.o the
. . long term guarantee measures and transitional
due to ring—fencing
: measures.
and matching
portfolio
Total amount of restricted own funds due to ring—
Without transitional | fencing calculated considering technical
on technical provisions without the adjustment due to the
provisions — Basic | transitional deduction to technical provisions, but
own funds — keeping the adjustments due to the volatility
C0020/R0040 Restricted own funds | adjustment and the matching adjustment.
due to ring—fencing
and matching If transitional deduction to technical provisions is
portfolio not applicable report the same amount as in
Coo010.
Amount of the adjustment to the restricted own
Imoact of transitional funds due to ring—fencing due to the application of
b . the transitional deduction to technical provisions.
on technical
gwxz:%z: Basic It shall be the difference between the restricted
C0030/R0040 . own funds due to ring—fencing calculated
Restricted own funds I . L )
) . considering the technical provisions without
due to ring—fencing o : . .
. transitional deduction to technical provisions and
and matching h icted funds d a—fenci
ortfolio the restricted own funds due to ring—fencing
P calculated with the technical provisions with LTG
and transitional measures.
Total amount of restricted own funds due to ring—
fencing calculated considering technical
Without transitional | provisions without the adjustment due to the
on interest rate — transitional adjustment to the relevant risk-free
Basic own funds — | interest rate term structure, but keeping the
C0040/R0040 | Restricted own funds | adjustments due to the volatility adjustment and
due to ring—fencing | the matching adjustment.
and matching
portfolio If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Amount of the adjustment to the restricted own
. funds due to ring—fencing due to the application of
Impact of transitional o . )
. the transitional adjustment to the relevant risk-free
on interest rate — .
. interest rate term structure.
Basic own funds —
C0050/R0040 | Restricted own funds

due to ring—fencing
and matching
portfolio

It shall be the difference between the restricted
own funds due to ring—fencing calculated
considering the technical provisions without
transitional adjustment to the relevant risk-free
interest rate term structure and the restricted own
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funds due to ring—fencing calculated with the
technical provisions reported under C0020.

Without volatility
adjustment and
without other

Total amount of restricted own funds due to ring—
fencing calculated considering technical
provisions without the adjustments due to the
transitional deduction to technical provisions, the

transitional " ) ;
measures — Basic f[ransmonal adjustment to the relevant rlsk—free
C0060/R0040 interest rate term structure and the volatility
own funds — . . :
; adjustment, but keeping the adjustments due to
Restricted own funds : :
. . the matching adjustment.
due to ring—fencing
a(r;(rjtfrc:}ie;[chlng If volatility adjustment is not applicable report the
P same amount as in C0040.
Amount of the adjustment to the restricted own
funds due to ring—fencing due to the application of
- the volatility adjustment. It shall reflect the impact
Impact of volatility . - )
. of setting the volatility adjustment to zero.
adjustment set to
zero — Basic own : .
C0070/R0040 | funds — Restricted | 't sha;ll bde tge dlffer_enc? befrweenlthelz re(sjtrlcted
own funds due to own funds due to ring—fencing calculate
: ) considering the technical provisions without
ring—fencing and latility ad 4 with h ional
matching portfolio volatility adjustment and without other transitiona
measures and the restricted own funds due to
ring—fencing calculated with the technical
provisions reported under C0040.
Without matching
adjustment and Total amount of restricted own funds due to ring—
without all the others | fencing calculated considering technical
C0080/R0040 | — BaS|c_ own funds | provisions without any LTG measure.
— Restricted own
funds due to ring— If matching adjustment is not applicable report the
fencing and same amount as in C0060.
matching portfolio
Amount of the adjustment to the restricted own
funds due to ring—fencing due to the application of
the matching adjustment. It shall include the
Impact of matching impact of setting the volatility adjustment and the
adjustment set to matching adjustment to zero.
zero — Basic own
CO0090/R0040 | funds — Restricted It shall be the difference between the restricted
own funds due to own funds due to ring—fencing calculated
ring—fencing and considering the technical provisions without
matching portfolio matching adjustment and without all the other
transitional measures and the restricted own
funds due to ring—fencing calculated with the
technical provisions reported under C0060.
Impact of all LTG Amount of the adjustment to the restricted own
C0100/R0040 | measures and funds due to ring—fencing due to the application of

transitionals — Basic

the LTG measures and transitionals.
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own funds —
Restricted own funds
due to ring—fencing
and matching
portfolio

Amount with LTG
measures and

Total amount of eligible own funds to meet SCR
calculated considering technical provisions

C0010/R0O050 | transitionals — ) . .
- including the adjustments due to the long term
Eligible own funds to -
guarantee measures and transitional measures.
meet SCR
Total amount of eligible own funds to meet SCR
calculated considering technical provisions
. . without the adjustment due to the transitional
Without transitional . . - :
: deduction to technical provisions, but keeping the
on technical adjustments due to the volatility adjustment and
C0020/R0050 | provisions — Eligible | &% s due y ad
the matching adjustment.
own funds to meet
SCR If transitional deduction to technical provisions is
not applicable report the same amount as in
C0010.
Amount of the adjustment to the eligible own
funds to meet SCR due to the application of the
. transitional deduction to technical provisions.
Impact of transitional
on technical : -
CO030/R0050 | provisions — Eligible It shall be the difference between the eligible own
funds to meet SCR calculated considering the
own funds to meet . e ) " .
technical provisions without transitional deduction
SCR ) - -
to technical provisions and the eligible own funds
to meet SCR calculated with the technical
provisions with LTG and transitional measures.
Total amount of eligible own funds to meet SCR
calculated considering technical provisions
without the adjustment due to the transitional
Without transitional | adjustment to the relevant risk-free interest rate
on interest rate — term structure, but keeping the adjustments due
CO040/R0050 Eligible own funds to | to the volatility adjustment and the matching
meet SCR adjustment.
If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Amount of the adjustment to the eligible own
funds to meet SCR due to the application of the
- transitional adjustment to the relevant risk-free
Impact of transitional | .
on interest rate — interest rate term structure.
C0050/R0050

Eligible own funds to
meet SCR

It shall be the difference between the eligible own
funds to meet SCR calculated considering the
technical provisions without transitional
adjustment to the relevant risk-free interest rate
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term structure and the eligible own funds to meet
SCR calculated with the technical provisions
reported under C0020.

Without volatility
adjustment and
without other

Total amount of eligible own funds to meet SCR
calculated considering technical provisions
without the adjustments due to the transitional
deduction to technical provisions, the transitional
adjustment to the relevant risk-free interest rate

C0060/R0050 | transitional term structure and the volatility adjustment, but
measures — Eligible | keeping the adjustments due to the matching
own funds to meet adjustment.

SCR
If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the eligible own
funds to meet SCR due to the application of the
volatility adjustment. It shall reflect the impact of

o setting the volatility adjustment to zero.

Impact of volatility

C0070/R0050 jgjrgsﬁgﬂt isbeltetgwn It shall be the difference between the eligible own
f 9 funds to meet SCR calculated considering the
unds to meet SCR : e ) . )

technical provisions without volatility adjustment
and without other transitional measures and the
eligible own funds to meet SCR calculated with
the technical provisions reported under C0040.
Without matching Total amount of eligible own funds to meet SCR
adjustment and calculated considering technical provisions
CO0080/R0050 | without all the others | without any LTG measure.
— Eligible own funds | If matching adjustment is not applicable report the
to meet SCR same amount as in C0060.
Amount of the adjustment to the eligible own
funds to meet SCR due to the application of the
matching adjustment. It shall include the impact of
setting the volatility adjustment and the matching
Impact of matching adjustment to zero.
C0090/RO050 | 2djustment set to It shall be the difference between the eligible own
zero — Eligible own o
funds to meet SCR funds_to meet _S_CR callculated con:_mdenn_g the
technical provisions without matching adjustment
and without all the other transitional measures
and the eligible own funds to meet SCR
calculated with the technical provisions reported
under CO060.

Impact of all LTG

measures and Amount of the adjustment to the eligible own

C0100/R0050 | transitionals — funds to meet SCR due to the application of the

Eligible own funds to
meet SCR

LTG measures and transitionals.

10
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Amount with LTG
measures and

Total amount of eligible own funds to meet SCR—
Tier 1 calculated considering technical provisions

C0010/R0060 tre_m_smonals . including the adjustments due to the long term
Eligible own funds to "
meet SCR—Tier 1 guarantee measures and transitional measures.
Total amount of eligible own funds to meet SCR—
Tier 1 calculated considering technical provisions
. . without the adjustment due to the transitional
Without transitional . . s :
: deduction to technical provisions, but keeping the
on technical adjustments due to the volatility adjustment and
C0020/R0060 | provisions — Eligible | % . . y ad]
the matching adjustment.
own funds to meet
SCR-Tier 1 If transitional deduction to technical provisions is
not applicable report the same amount as in
Coo010.
Amount of the adjustment to the eligible own
funds to meet SCR-Tier 1 due to the application
of the transitional deduction to technical
Impact of transitional provisions.
C0030/R0O060 S?otveigmfi Eligible ]Ict shall be the difference between the eligible own
own funds to meet unds to meet SCR.—TIEI’ 1 calculated_gon3|der|ng
SCR-Tier 1 the technlcal provisions Wlt_h(_)ut transmonal_ _
deduction to technical provisions and the eligible
own funds to meet SCR-Tier 1 calculated with the
technical provisions with LTG and transitional
measures.
Total amount of eligible own funds to meet SCR—
Tier 1 calculated considering technical provisions
without the adjustment due to the transitional
Without transitional | adjustment to the relevant risk-free interest rate
on interest rate — term structure, but keeping the adjustments due
C0040/R0060 Eligible own funds to | to the volatility adjustment and the matching
meet SCR-Tier 1 adjustment.
If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Amount of the adjustment to the eligible own
funds to meet SCR-Tier 1 due to the application
of the transitional adjustment to the relevant risk-
free interest rate term structure.
Impact of transitional
C0050/R0060 | O" interest rate — It shall be the difference between the eligible own

Eligible own funds to
meet SCR-Tier 1

funds to meet SCR-Tier 1 calculated considering
the technical provisions without transitional
adjustment to the relevant risk-free interest rate
term structure and the eligible own funds to meet
SCR-Tier 1 calculated with the technical
provisions reported under C0020.

11
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Without volatility
adjustment and
without other

Total amount of eligible own funds to meet SCR—
Tier 1 calculated considering technical provisions
without the adjustments due to the transitional
deduction to technical provisions, the transitional
adjustment to the relevant risk-free interest rate

C0060/R0060 | transitional term structure and the volatility adjustment, but
measures — Eligible | keeping the adjustments due to the matching
own funds to meet adjustment.

SCR-Tier 1
If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the eligible own
funds to meet SCR-Tier 1 due to the application
of the volatility adjustment. It shall reflect the
Impact of volatility impact of setting the volatility adjustment to zero.
adjustment set to It shall be the difference between the eligible own

C0070/R0060 | zero — Eligible own | funds to meet SCR-Tier 1 calculated considering
funds to meet SCR— | the technical provisions without volatility
Tier 1 adjustment and without other transitional

measures and the eligible own funds to meet
SCR-Tier 1 calculated with the technical
provisions reported under C0040.
Without matching Total amount of eligible own funds to meet SCR—
adjustment and Tier 1 calculated considering technical provisions
C0080/R0060 | without all the others | without any LTG measure.
— Eligible own funds | If matching adjustment is not applicable report the
to meet SCR-Tier 1 | same amount as in C0060.
Amount of the adjustment to the eligible own
funds to meet SCR-Tier 1 due to the application
of the matching adjustment. It shall include the
impact of setting the volatility adjustment and the
Impact of matching matching adjustment to zero.
adjustment set to
CO0090/R0060 | zero — Eligible own | It shall be the difference between the eligible own
funds to meet SCR- | funds to meet SCR-Tier 1 calculated considering
Tier 1 the technical provisions without matching
adjustment and without all the other transitional
measures and the eligible own funds to meet
SCR-Tier 1 calculated with the technical
provisions reported under C0060.

Impact of all LTG

measures and Amount of the adjustment to the eligible own

C0100/R0060 | transitionals — funds to meet SCR-Tier 1 due to the application
Eligible own funds to | of the LTG measures and transitionals.
meet SCR-Tier 1
Amount with LTG Total amount of eligible own funds to meet SCR—

C0010/R0O070 | Measures and Tier 2 calculated considering technical provisions

transitionals —
Eligible own funds to

including the adjustments due to the long term
guarantee measures and transitional measures.

12
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meet SCR-Tier 2

Without transitional
on technical

Total amount of eligible own funds to meet SCR—
Tier 2 calculated considering technical provisions
without the adjustment due to the transitional
deduction to technical provisions, but keeping the
adjustments due to the volatility adjustment and

C0020/R0070 | provisions — Eligible the matching adjustment.

own funds to meet

SCR-Tier 2 If transitional deduction to technical provisions is
not applicable report the same amount as in
C0010.

Amount of the adjustment to the eligible own
funds to meet SCR-Tier 2 due to the application
of the transitional deduction to technical

Impact of transitional provisions.

on technical : .

e - It shall be the difference between the eligible own
CO030/R0070 | provisions — Eligible funds to meet SCR-Tier 2 calculated considering
own funds to meet . L ) -

SCR_Tier 2 the technical provisions without transitional
deduction to technical provisions and the eligible
own funds to meet SCR-Tier 2 calculated with the
technical provisions with LTG and transitional
measures.

Total amount of eligible own funds to meet SCR—
Tier 2 calculated considering technical provisions
without the adjustment due to the transitional
. o adjustment to the relevant risk-free interest rate
Without transitional ) .
on interest rate — term structure, bu_t keeping the adjustmer_lts due
C0040/R0070 . to the volatility adjustment and the matching

Eligible own funds to adjustment

meet SCR-Tier 2 '

If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.

Amount of the adjustment to the eligible own
funds to meet SCR-Tier 2 due to the application
of the transitional adjustment to the relevant risk-
free interest rate term structure.

Impact of transitional

C0050/R0070 | O7 i_nterest rate — It shall be the differenpe between the eIigipIe own

Eligible own funds to | funds to meet SCR—Tier 2 calculated considering

meet SCR-Tier 2 the technical provisions without transitional
adjustment to the relevant risk-free interest rate
term structure and the eligible own funds to meet
SCR-Tier 2 calculated with the technical
provisions reported under C0020.

Without volatility Total amount of eligible own funds to meet SCR-

CO0060/R0070 | adjustment and Tier 2 calculated considering technical provisions

without other

without the adjustments due to the transitional

13




Bank of England PRA

transitional
measures — Eligible
own funds to meet
SCR-Tier 2

deduction to technical provisions, the transitional
adjustment to the relevant risk-free interest rate
term structure and the volatility adjustment, but
keeping the adjustments due to the matching
adjustment.

If volatility adjustment is not applicable report the
same amount as in C0040.

Impact of volatility
adjustment set to

Amount of the adjustment to the eligible own
funds to meet SCR-Tier 2 due to the application
of the volatility adjustment. It shall reflect the
impact of setting the volatility adjustment to zero.

It shall be the difference between the eligible own

C0070/R0070 fzero — Eligible own funds to meet SCR-Tier 2 calculated considering
unds to meet SCR— . L ) .

Tier 2 the; technical provisions without volqtlllty
adjustment and without other transitional
measures and the eligible own funds to meet
SCR-Tier 2 calculated with the technical
provisions reported under C0040.

Without matching Total amount of eligible own funds to meet SCR-

adjustment and Tier 2 calculated considering technical provisions

C0080/R0070 | without all the others | without any LTG measure.

— Eligible own funds | If matching adjustment is not applicable report the

to meet SCR-Tier 2 | same amount as in C0060.

Amount of the adjustment to the eligible own
funds to meet SCR-Tier 2 due to the application
of the matching adjustment. It shall include the
impact of setting the volatility adjustment and the

Impact of matching matching adjustment to zero.

adjustment set to

CO0090/R0070 | zero — Eligible own | It shall be the difference between the eligible own
funds to meet SCR- | funds to meet SCR-Tier 2 calculated considering

Tier 2 the technical provisions without matching
adjustment and without all the other transitional
measures and the eligible own funds to meet
SCR-Tier 2 calculated with the technical
provisions reported under C0060.

Impact of all LTG

measures and Amount of the adjustment to the eligible own

C0100/R0O070 | transitionals — funds to meet SCR-Tier 2 due to the application

Eligible own funds to | of the LTG measures and transitionals.

meet SCR-Tier 2

Amount with LTG Total amount of eligible own funds to meet SCR—

measures and Tier 3 calculated considering technical provisions

C0010/R0O080 | transitionals —

Eligible own funds to
meet SCR-Tier 3

including the adjustments due to the long term
guarantee measures and transitional measures.

14
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Without transitional
on technical

Total amount of eligible own funds to meet SCR—
Tier 3 calculated considering technical provisions
without the adjustment due to the transitional
deduction to technical provisions, but keeping the
adjustments due to the volatility adjustment and

C0020/R0080 | provisions — Eligible the matching adjustment.
own funds to meet
SCR-Tier 3 If transitional deduction to technical provisions is
not applicable report the same amount as in
C0010.
Amount of the adjustment to the eligible own
funds to meet SCR-Tier 3 due to the application
of the transitional deduction to technical
Impact of transitional provisions.
C0030/RO0E0 gpot/ei:;:ir;r:gai Eligible :;t shall be the difference between the eligible own
own funds to meet unds to meet SCR_—Tler 3 calculated_c_on3|der|ng
SCR-Tier 3 the tec_hnlcal provisions wﬂhqut transmonal_ _
deduction to technical provisions and the eligible
own funds to meet SCR-Tier 3 calculated with the
technical provisions with LTG and transitional
measures.
Total amount of eligible own funds to meet SCR—
Tier 3 calculated considering technical provisions
without the adjustment due to the transitional
. . adjustment to the relevant risk-free interest rate
Without transitional . .
on interest rate — term structure, bu't keeping the ad1ustmer_1ts due
C0040/R0080 - to the volatility adjustment and the matching
Eligible own funds to adjustment
meet SCR-Tier 3 '
If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Amount of the adjustment to the eligible own
funds to meet SCR-Tier 3 due to the application
of the transitional adjustment to the relevant risk-
free interest rate term structure.
Impact of transitional
C0050/R0080 | O" interest rate — It shall be the differen(_:e between the eligiple own
Eligible own funds to | funds to meet SCR—Tier 3 calculated considering
meet SCR-Tier 3 the technical provisions without transitional
adjustment to the relevant risk-free interest rate
term structure and the eligible own funds to meet
SCR-Tier 3 calculated with the technical
provisions reported under C0020.
Without volatility Total amount of eligible own funds to meet SCR—
adjustment and Tier 3 calculated considering technical provisions
C0060/R0080 | without other without the adjustments due to the transitional

transitional
measures — Eligible

deduction to technical provisions, the transitional
adjustment to the relevant risk-free interest rate
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own funds to meet
SCR-Tier 3

term structure and the volatility adjustment, but
keeping the adjustments due to the matching
adjustment.

If volatility adjustment is not applicable report the
same amount as in C0040.

Impact of volatility
adjustment set to

Amount of the adjustment to the eligible own
funds to meet SCR-Tier 3 due to the application
of the volatility adjustment. It shall reflect the
impact of setting the volatility adjustment to zero.

It shall be the difference between the eligible own

C0070/R0080 fzero — Eligible own 1 ¢, ds to meet SCR-Tier 3 calculated considering
unds to meet SCR— . L . .

Tier 3 the_z technical provisions without volgt|l|ty
adjustment and without other transitional
measures and the eligible own funds to meet
SCR-Tier 3 calculated with the technical
provisions reported under C0040.

Without matching Total amount of eligible own funds to meet SCR—

adjustment and Tier 3 calculated considering technical provisions

CO0080/R0080 | without all the others | without any LTG measure.

— Eligible own funds | If matching adjustment is not applicable report the

to meet SCR-Tier 3 | same amount as in C0060.

Amount of the adjustment to the eligible own
funds to meet SCR-Tier 3 due to the application
of the matching adjustment. It shall include the
impact of setting the volatility adjustment and the

Impact of matching matching adjustment to zero.

adjustment set to

C0090/R0080 | zero — Eligible own | It shall be the difference between the eligible own
funds to meet SCR- | funds to meet SCR-Tier 3 calculated considering

Tier 3 the technical provisions without matching
adjustment and without all the other transitional
measures and the eligible own funds to meet
SCR-Tier 3 calculated with the technical
provisions reported under C0060.

Impact of all LTG

measures and Amount of the adjustment to the eligible own

C0100/R0080 | transitionals — funds to meet SCR-Tier 3 due to the application

Eligible own funds to | of the LTG measures and transitionals.

meet SCR-Tier 3

Amount with LTG Total gmount Qf' SCR calcglated con;idering

C0010/R0090 | measures and technical provisions including the adjustments due
" to the long term guarantee measures and
transitionals — SCR "
transitional measures
Without transitional Total amount of SCR calculated considering
C0020/R0090 | on technical technical provisions without the adjustment due to

provisions —SCR

the transitional deduction to technical provisions,

16




Bank of England PRA

but keeping the adjustments due to the volatility
adjustment and the matching adjustment.

If transitional deduction to technical provisions is
not applicable report the same amount as in
Coo010.

C0030/R0090

Impact of transitional
on technical
provisions — SCR

Amount of the adjustment to the SCR due to the
application of the transitional deduction to
technical provisions.

It shall be the difference between the SCR
calculated considering the technical provisions
without transitional deduction to technical
provisions and the SCR calculated with the
technical provisions with LTG and transitional
measures.

C0040/R0090

Without transitional
on interest rate —
SCR

Total amount of SCR calculated considering
technical provisions without the adjustment due to
the transitional adjustment to the relevant risk-free
interest rate term structure, but keeping the
adjustments due to the volatility adjustment and
the matching adjustment.

If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.

C0050/R0090

Impact of transitional
on interest rate —
SCR

Amount of the adjustment to the SCR due to the
application of the transitional adjustment to the
relevant risk-free interest rate term structure.

It shall be the difference between the SCR
calculated considering the technical provisions
without transitional adjustment to the relevant risk-
free interest rate term structure and the SCR
calculated with the technical provisions reported
under C0020.

C0060/R0090

Without volatility
adjustment and
without other
transitional
measures — SCR

Total amount of SCR calculated considering
Technical provisions without the adjustments due
to the transitional deduction to technical
provisions, the transitional adjustment to the
relevant risk-free interest rate term structure and
the volatility adjustment, but keeping the
adjustments due to the matching adjustment.

If volatility adjustment is not applicable report the
same amount as in C0040.

C0070/R0090

Impact of volatility
adjustment set to
zero — SCR

Amount of the adjustment to the SCR due to the
application of the volatility adjustment. It shall
reflect the impact of setting the volatility
adjustment to zero.
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It shall be the difference between the SCR
calculated considering the technical provisions
without volatility adjustment and without other
transitional measures and the SCR calculated
with the technical provisions reported under
C0040.

Without matching
adjustment and

Total amount of SCR calculated considering
Technical provisions without any LTG measure.

CO080/R0090 without all the others | If matching adjustment is not applicable report the
— SCR same amount as in C0060.
Amount of the adjustment to the SCR due to the
application of the matching adjustment. It shall
include the impact of setting the volatility
adjustment and the matching adjustment to zero.
Impact of matching
C0090/R0090 | adjustment set to It shall be the difference between the SCR
zero — SCR calculated considering the technical provisions
without matching adjustment and without all the
other transitional measures and the SCR
calculated with the technical provisions reported
under C0060.
Impact of all LTG Amount of the adjustment to the SCR due to the
C0100/R0090 | measures and application of the LTG measures and
transitionals —SCR transitionals.
Amount with LTG Total amount of eligible own funds to meet MCR
measures and calculated considering technical provisions
C0010/R0O100 | transitionals — . ) )
- including the adjustments due to the long term
Eligible own funds to "
meet MCR guarantee measures and transitional measures.
Total amount of eligible own funds to meet MCR
calculated considering technical provisions
. o without the adjustment due to the transitional
Without transitional . . - :
. deduction to technical provisions, but keeping the
on technical adjustments due to the volatility adjustment and
C0020/R0100 | provisions — Eligible | 2 IS due y adj
the matching adjustment.
own funds to meet
MCR If transitional deduction to technical provisions is
not applicable report the same amount as in
Coo010.
Amount of the adjustment to the eligible own
. funds to meet MCR due to the application of the
Impact of transitional " . . e
. transitional deduction to technical provisions.
on technical
CO0030/R0100 | provisions — Eligible

own funds to meet
MCR

It shall be the difference between the eligible own
funds to meet MCR calculated considering the

technical provisions without transitional deduction
to technical provisions and the eligible own funds
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to meet MCR calculated with the technical
provisions with LTG and transitional measures.

Without transitional
on interest rate —

Total amount of eligible own funds to meet MCR
calculated considering technical provisions
without the adjustment due to the transitional
adjustment to the relevant risk-free interest rate
term structure, but keeping the adjustments due

C0040/R0100 - to the volatility adjustment and the matching
Eligible own funds to adjustment
meet MCR '
If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.
Amount of the adjustment to the Eligible own
funds to meet MCR due to the application of the
transitional adjustment to the relevant risk-free
interest rate term structure.
Impact of transitional
C0050/R0100 | O" interest rate — It shall be the difference between th_e eIi_gibIe own
Eligible own funds to | funds to meet MCR calculated considering the
meet MCR technical provisions without transitional
adjustment to the relevant risk-free interest rate
term structure and the eligible own funds to meet
MCR calculated with the technical provisions
reported under C0020.
Total amount of Eligible own funds to meet MCR
calculated considering Technical provisions
Without volatility without the adjustments due to the transitional
adjustment and deduction to technical provisions, the transitional
without other adjustment to the relevant risk-free interest rate
C0060/R0100 | transitional term structure and the volatility adjustment, but
measures — Eligible | keeping the adjustments due to the matching
own funds to meet adjustment.
MCR
If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the Eligible own
funds to meet MCR due to the application of the
volatility adjustment. It shall reflect the impact of
o setting the volatility adjustment to zero.
Impact of volatility
C0070/R0100 adjustmeqt set to It shall be the difference between the eligible own
zero — Eligible own o
funds to meet MCR calculated considering the
funds to meet MCR : . . . .
technical provisions without volatility adjustment
and without other transitional measures and the
eligible own funds to meet MCR calculated with
the technical provisions reported under C0040.
C0080/R0O100 Without matching Total amount of Eligible own funds to meet MCR

adjustment and

calculated considering Technical provisions
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without all the others
— Eligible own funds
to meet MCR

without any LTG measure.
If matching adjustment is not applicable report the
same amount as in C0060.

Impact of matching
adjustment set to

Amount of the adjustment to the Eligible own
funds to meet MCR due to the application of the
matching adjustment. It shall include the impact of
setting the volatility adjustment and the matching
adjustment to zero.

C0090/R0100 o It shall be the difference between the eligible own
zero — Eligible own o
funds to meet MCR funds_to meet _IV_ICR cqlculated con_3|der|ng the
technical provisions without matching adjustment
and without all the other transitional measures
and the eligible own funds to meet MCR
calculated with the technical provisions reported
under C0060.
Impact of all LTG
measures and Amount of the adjustment to the Eligible own
C0100/R0100 | transitionals — funds to meet MCR due to the application of the
Eligible own funds to | LTG measures and transitionals.
meet MCR
Amount with LTG Total amount of MCR calculated considering
measures and technical provisions including the adjustments due
C0010/R0110 | transitionals —
Minimum Capital to the_ _Iong term guarantee measures and
, transitional measures.
Requirement
Total amount of MCR calculated considering
technical provisions without the adjustment due to
Without transitional the transitional deduction to technical provisions,
on technical but keeping the adjustments due to the volatility
C0020/R0110 | provisions — adjustment and the matching adjustment.
Minimum Capital
Requirement If transitional deduction to technical provisions is
not applicable report the same amount as in
C0010.
Amount of the adjustment to the MCR due to the
application of the transitional deduction to
Impact of transitional | technical provisions.
on technical It shall be the difference between the MCR
CO0030/R0110 | provisions — calculated considering the technical provisions
Minimum Capital without transitional deduction to technical
Requirement provisions and the MCR calculated with the
technical provisions with LTG and transitional
measures.
Without transitional | Total amount of MCR calculated considering
Co040/R0110 | ON interest rate — technical provisions without the adjustment due to

Minimum Capital
Requirement

the transitional adjustment to the relevant risk-free
interest rate term structure, but keeping the
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adjustments due to the volatility adjustment and
the matching adjustment.

If transitional adjustment to the relevant risk-free
interest rate term structure is not applicable report
the same amount as in C0020.

Impact of transitional
on interest rate —

Amount of the adjustment to the MCR due to the
application of the transitional adjustment to the
relevant risk-free interest rate term structure.

It shall be the difference between the MCR

C0050/R0110 Minimum Capital calculated considering the technical provisions
Requirement without transitional adjustment to the relevant risk-
free interest rate term structure and MCR
calculated with the technical provisions reported
under C0020.
Total amount of MCR calculated considering
. . technical provisions without the adjustments due
Without volatility . ) )
. to the transitional deduction to technical
adjustment and o g :
: provisions, the transitional adjustment to the
without other : )
. relevant risk-free interest rate term structure and
C0060/R0110 | transitional . : .
the volatility adjustment, but keeping the
measures — . . )
o . adjustments due to the matching adjustment.
Minimum Capital
Requirement If volatility adjustment is not applicable report the
same amount as in C0040.
Amount of the adjustment to the MCR due to the
application of the volatility adjustment. It shall
reflect the impact of setting the volatility
. adjustment to zero.
Impact of volatility
C0070/R0110 | 2AIUSIMERt SELIO 1y sy e the difference between the MCR
Capital Requirement calculated considering the technical provisions
P q without volatility adjustment and without other
transitional measures and the MCR calculated
with the technical provisions reported under
C0040.
. . Total amount of MCR calculated considering
Without matching . . .
. technical provisions without any LTG measure.
adjustment and
C0080/R0O110 :
without all the others : . . .
If matching adjustment is not applicable report the
— MCR ;
same amount as in C0060.
Amount of the adjustment to the MCR due to the
. application of the matching adjustment. It shall
Impact of matching include the | ¢ ing th latil
adjustment set to include the impact of setting the volatility
C0090/R0O110 adjustment and the matching adjustment to zero.

zero — Minimum
Capital Requirement

It shall be the difference between the MCR
calculated considering the technical provisions

21




Bank of England PRA

without matching adjustment and without all the
other transitional measures and the MCR
calculated with the technical provisions reported
under C0060.

C0100/R0110

Impact of all LTG
measures and
transitionals —
Minimum Capital
Requirement

Amount of the adjustment to the MCR due to the
application of the LTG measures and
transitionals.
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